
  3
5 

(T
YP

)  
  1

25
 (T

YP
)  

  3
5 

(T
YP

)  

  3
5 

(T
YP

)  

  31    31 (TYP)  

HVA-HG-01(A)

HINGE DESIGN WITH A GREASE NIPPLE
FIXINGS SUPPLIED PER PAIR ARE AS FOLLOWS:

(8) M12 x 40mm CSK UNBRAKO MECH GAL SCREW
(4) M12 x 40mm SOCKET HEAD UNBRAKOMECH GAL SCREW

MILD STEEL WITH A ZINC PLATE FINISH
COMMONLY USED IN W.A

EDGE OF
DOOR FRAME

  19  

HVA-HG-01(B)
HINGE DESIGN WITH A GREASE NIPPLE

FIXINGS SUPPLIED PER PAIR ARE AS FOLLOWS:
(8) M12 x 40mm CSK UNBRAKO MECH GAL SCREW

(4) M12 x 40mm SOCKET HEAD UNBRAKOMECH GAL SCREW
MILD STEEL WITH A ZINC PLATE FINISH

COMMONLY USED IN VICTORIAN PRISONS
SF USED 2010-2022

OPTIONS:
POWER TRANSFER - SPECIFY HVA-HG-02(B)

STAINLESS STEEL AVAILABLE - SPECIFY HVA-HG-17

EDGE OF
DOOR FRAME

  19  

HVA-HG-01(C)
HINGE DESIGN WITH A BRONZE BUSH

FIXINGS SUPPLIED PER PAIR ARE AS FOLLOWS:
(12) M12 x 40mm BUTTON POST HEX S/S 304 SCREW

MILD STEEL WITH A ZINC PLATE FINISH
NEW STYLE HINGE

SF USED 2020+

OPTIONS:
POWER TRANSFER - SPECIFY HVA-HG-02(C)

STAINLESS STEEL AVAILABLE - SPECIFY HVA-HG-18

EDGE OF
DOOR FRAME

HVA-HG-01(A)
SCALE 1 : 2

HINGE DESIGN WITH A GREASE NIPPLE
FIXINGS SUPPLIED PER PAIR ARE AS FOLLOWS:

(8) M12 x 40mm CSK UNBRAKO MECH GAL SCREW
(4) M12 x 40mm SOCKET HEAD UNBRAKOMECH GAL SCREW

COMMONLY USED IN W.A

A A

FRONT VIEW
SCALE 1 : 20

LEFT HAND DOOR SHOWN
SCHEDULED AS "LH"

INDICATIVE WINDOW
SCHEDULED AS "LH / AD"
LEFT HAND, AS DRAWN

LEFT HAND - LH

HINGE

DOOR FACE

PULL SIDE

PUSH SIDE

B B

FRONT VIEW
SCALE 1 : 20

RIGHT HAND DOOR SHOWN
SCHEDULED AS "RH"

INDICATIVE WINDOW
SCHEDULED AS "RH / OH"

RIGHT HAND, OPPOSITE HAND

RIGHT HAND - RH

DOOR FACE

HINGE

PUSH SIDE

PULL SIDE

TO DOOR FRAME

TO DOOR LEAF

TYPICAL POWER
TRANSFER CABLE PATHWAY

REVISIONS
REV. DESCRIPTION DRWN DATE CHECKED

A ISSUED FOR 
INFORMATION JF 05/08/2022

NOTES
FINISH: HOT DIP GALVANISED STEELFINNE MARK FREE FINISH SHOP PRIMED DUREMAX GPE ZP
GENERAL: REMOVE ALL SHARP CORNERS AND EDGES REMOVE ALL SHARP CORNERS AND EDGES REMOVE ALL SHARP CORNERS AND EDGES

CAP EXPOSED ENDS OF RHS AFTER GALV.
PROVIDE ADEQUATE VENTILATION AND
DRAINAGE HOLES TO ALL RHS
INTERSECTIONS FOR H.D.G

PART NUMBER DESCRIPTION
HVA-HG-01(A) OLD HINGE DESIGN - GREASE NIPPLES
HVA-HG-01(B) STANDARD HINGE DESIGN - GREASE NIPPLES
HVA-HG-01(C) STANDARD HINGE DESIGN - BRASS BUSHINGS
HVA-HG-02(A) OLD HINGE DESIGN - GREASE NIPPLES - POWER TRANSFER
HVA-HG-02(B) STANDARD HINGE DESIGN - GREASE NIPPLES - POWER TRANSFER
HVA-HG-02(C) STANDARD HINGE DESIGN - BRASS BUSHINGS - POWER TRANSFER

HVA-HG-17 STANDARD HINGE DESIGN - GREASE NIPPLES, STAINLESS STEEL
HVA-HG-18 STANDARD HINGE DESIGN - BRASS BUSHINGS, STAINLESS STEEL

REV

DWG SET

STEELFINNE FABRICATIONS

GENERIC

Steelfinne Fabrications Pty Ltd

A3L

Tel  (03) 9703 2878 Fax  (03) 9703 2041

TITLE

DATEDESIGN

JOB

CLIENT

OF

SH 1
1

WARNING - COPYRIGHT This document and the accompanying documents contain highly 
sensitive and highly confidential information, design details, intellectual property
and technical data which is and shall remain the property of STEELFINNE FABRICATIONS PTY LTD - 
ACN 005 645 616 and shall not be distributed passed on or circulated by the recipient to any 
other party without the express written consent or authority from STEELFINNE FABRICATIONS PTY 
LTD. AUSTRALIAN AND INTERNATIONAL PATENTS APPLY: PCT/AU00/00360, PCT/AU2008/00483

PART VIEWS
HVA HINGE CATALOGUE

FOR INFORMATION GD
A

05/08/2022

9999-HG-01

CREATED WITH SOLIDWORKS


	PART VIEWS
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Section View A-A
	Drawing View7
	Section View B-B
	Drawing View9


